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Linux 7| =

> Yo 2z

(command) + (options) + (arguments)

Is
Is

Is

-a

-a /home

» Manual page

A ABIO A K|S 3= =22 (man page)
7|28 2 2 command OtC} man pageE 7+
- CtS H|O|X| E7|= space bar == F Y

+ OJT HO|X| Bl b @
P EERRE

$ man who

WHO(1) User Commands
WHO(1)

NAME
who - show who is logged on

SYNOPSIS
who [OPTION]... [ FILE | ARG1 ARG2 ]

DESCRIPTION
-a, --all
same as -b -d --login -p -r -t -T -u

-b, --boot
time of last system boot

-d, --dead
print dead processes
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» which
- 3802 B2E EF

$ which 1s

alias 1s='ls --color=auto’

/usr/bin/1s

> whatis

- 807t F= €=ot= A 28

> top

$ whatis 1s
1s (1)
1s (1p)

A AE QL E

$ top -d 1

PID USER
186662 root
451401 root
331920 root

PR
20
20
20

- list directory contents
- list directory contents

NI

%)

VIRT

26332

RES

2472

SHR S 7%CPU %MEM
0 14.694g 3.861g 364948 S
0 128012 10688

1872 S
1848 S

3.9 1.0

2.9 0.0
1.9 0.0

TIME+ COMMAND
729:01.39 cmd
275:04.65 bash

0:00.02 sample_ipm
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Environment Module
> AF2X7F A S (shell environment) S 22|32 9T = £
> ‘module’ H &

— 2 FH (subcommand)

» avail(av)
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* rm(unload)
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> module &

- ME7ls 2= =2 (av)

/opt/ibs_lib/modulefiles/compilers
gcc/8.5.0 gecc/9.3.0 gce/11.2.0 gee/12.2.0 1ntel/2021.2.0 1intel/2021.3.0(default) 1intel/2022.0.2 1intel/2022.2.1 pgi/23.5

/opt/ibs_lib/modulefiles/mpi
imp1/2021.1.1 impi/2021.2.0 1impi/2021.3.0 impi/2021.5.1 1mpi/2021.7.1(default) openmpi/4.1.1 openmpi/4.1.1-Rocky openmpi/4.1.4

/opt/ibs_lib/modulefiles/libraries
anaconda/23.09.0 cudatoolkit/11.7 fftw/3.3.10 hdf4/4.2.14 miniconda/23.01.0 petsc/3.18.2  readline/8.2
bagel/1.2.2 cudatoolkit/11.8 flex/2.6.4 hdfd/4.2.15 mpc/1.3.1 pnetcdf/1.12.3 root/6.26.10
bison/3.8.2 cudatoolkit/12.2 gaussian/gl16.co1 hdf5/1.12.1 mpfr/d.1.1 proj/8.2.1 singularity/4.1.1
blas/3.11.0 cudnn/8.9.7.29-cudal2 gdal/3.5.0 151/0.24 ncurses/6.4 python/3.6.10  sqlite/3.43.0
boost/1.65.1 curl/7.61.1(default) ghostscript/10.02.1 jasper/3.0.6  ncview/2.1.10 python/3.7.2  trilinos/13.4.1
boost/1.81.0 curl/7.88.1 git-1fs/3.5.1 jpeg/%e netcdf-fortran/4.5.4 python/3.8.16 ucx/1.13.1
bz1p2/1.0.8 difx/2.6.3 gmp/6.2.1 lapack/3.11.0  netcdf/4.8.1 python/3.9.16  wgrib/1.8.2
charm/7.0.0 difx/2.8.1 go/1.22.0 libtirpc/1.3.3 openfoam/v2006 qchem/6.0.1 wgrib2/3.1.1
cmake/3.18.4 ECW/5.4.0 gromacs/2024.3 Libxml2/2.11.4 openssl/1.1.1g gmepack/3.16.0  xz/5.4.2
cmake/3.28.1 fftw/3.3.8 gsl/2.7.1 lustre/2.15.1 pcre2/10.42 zlib/1.2.11(default)

relion-gpu/4.0.0 relion/4.0.0

dot module-git module-info modules null use.own
[lenovo@olafl ~J$ ||
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Environment Module
» B 33

BE YH 5E

[lenovo@olafl ~]$ module help intel/2021.2.0

Module Specific Help for /opt/ibs_lib/modulefiles/compilers/intel/2021.2.0:

This module is for use of Intel Compiler 2018.
It needs module(s):
None
Use example:
$ module load intel/2021.2.0

Additional info:

1. We can use Intel Advisor, Vtune, Inspector, TBB and MKL.
2. Major environment variables is set up like these:
CC=icc CXX=icpc FC=1ifort F77=1fort F90=1ifort

[lenovo@lafl ~1$ [i

2= N7

[lenovo@olafl ~]$ module 1list

No Modulefiles Currently Loaded.
[lenovo@olafl ~]$ module load intel/2021.2.0
[lenovo@lafl ~]% module load 1mp1/2021.2.0

[lenovo@olafl ~]$% module 1list
Currently Loaded Modulefiles:

1) intel/2021.2.0 2) wmpl1/2021.2.0
[lenovo@olafl ~1% |
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» Default modulefiles in Pilot system

— M= & oY 2fl(list subcommand
[lenovo@olafl ~]$% module 1list
Currently Loaded Modulefiles:

1) 1ntel/2021.2.0 2) wmpl1/2021.2.0
[lenovo@olafl ~1% |

- M E 2= AA/ 2= F7FHrm / add subcommand)

[lenovo@olafl ~]% module rm 1mpi1/2021.2.0
[lenovo@olafl ~]$ module 1l1ist
Currently Loaded Modulefiles:

1) intel/2021.2.0

[lenovo@olafl ~]% module add openmpi/4.1.1
[ lenovo@olafl ~]$% module 1list
Currently Loaded Modulefiles:

1) wntel/2021.2.0 2) openmpi/4.1.1

_ HAE RE BE A

[lenovo@olafl ~]% module add openmpi/4.1.1
[ lenovo@olafl ~]$% module list

Currently Loaded Modulefiles:
1) intel/2021.2.0 2) openmpi/4.1.1
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— FEXtZ2 O Ao

C/C++ Intel icc/icpc  .C, .cc, .cpp, .CxX, .c+ intel/17.0.5| intel/18.0.1 | intel/18.0.3
GNU gcc/g++ * gce/6.1.0 | gee/7.2.0

F77/F90 Intel ifort .1, .for, .ftn, .f90, .fpp, intel/17.0.5]intel/18.0.1 | intel/18.0.3
GNU  gfortran L5 FOIRG IR gce/6.1.0 | gee/7.2.0

- AorgsE dy 549
Intel Compiler -03 —fPIC -xICELAKE-SERVER

GNU Complier-03 -fPIC -march=icelake-server
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_ Xt ZEI AT

o Intel ALY T2 Z4

d
Anie M

—
-0O[1[2|3] QEHME X H3l, =Xtz x| X} gf
-qopt-report=[0|1|2/3]4|5] HIE Tt HEO| 42 =H
XICELAKE-SERVER 512bit 2| X[~ E & Z+El CPU X[ &
-qopenmp OpenMP 7|8t9| multi-thread 3 = At
-fPIC, -fpic PIC(Position Independent Code) 7t M M| = = ZHut
- HY M

-03 -fPIC -XICELAKE-SERVER ( Skylake)

$ icc -0 test.exe -03 -fPIC -xICELAKE-SERVER test.c
$ ifort -o test.exe -03 -fPIC -xICELAKE-SERVER test.f90
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ol
=
« GNU LYY F2 4

oL
H X

—]
-0[1|2|3] Q X M2} At 2 X 2
-march=skylake-avx512 512bits EﬂxlﬁH% 7% cPU X| &
-Ofast -03 -ffast-math 0§ 3. 2
-fopenmp OpenMP 7| 8t2| multi-thread 2= ALE
fPIC PIC(Position Independent Code) 7| 24 & &| = &
- HY M

-0O3 -fPIC -march=icelake-server

$ gcc -o test.exe -03 -fPIC -march=icelake-server test.c
$ gfotran -o tetst.exe -03 -fPIC -march=icelake-server test.f90



« OpenMP ZIt

— OpenMP= ALY X|A|O{TtC 2 HE| A EE ST £ YT =2 7

7| 8
- AOtYe M8 FUK0 WE AIYS Y
» Intel compiler : -gopenmp

» GNU compiler : -fopenmp

$ icc -o test.exe -qopenmp -03 -fPIC -xICELAKE-SERVER test.c
$ gcc -o test.exe -fopenmp -03 -fPIC -march=icelake-server test.



=
- MPI &= 0| 80ot0] Bt
HE2 252 wrapper2M X[ ZE AotE 7t 225 ALE &

£ GNU

Fortran ifort gfortran
Fortran + MPI mpiifort mpifa0
C icc gcc

C + MPI mpiicc Mpicc
C++ icpc gt+
C++ + MPI mpiicpc mpicxx

$ mpiicc -o test.exe -qopenmp -03 -fPIC -xICELAKE-SERVER test.c
$ mpicc -o test.exe -fopenmp -03 -fPIC -march=icelake-server test.c

27
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Compile & Joh Script AFE 0| A|: (P1 2 E)

> =X 3E (pi.c)

#include <stdio.h>
#include <math.h>
#include <sys/time.h>

inline double cpuTimer(){
struct timeval tp;
gettimeofday(&tp,NULL);
return ((double)tp.tv_sec + (double)tp.tv_usec*1le-6);

int main(){

double iStart, ElapsedTime;
const long num_step = 5000000000;
long i;
double sum, step, pi, Xx;
step = (1.0/(double)num_step);
sum = 0.0;
iStart=cpuTimer();
printf("---------"-"""“"“““m e - - \n");
for(i=1;i<=num_step;i++){

x = ((double)i-0.5)*step;

sum += 4.0/(1.0+x*x);



Compile & Joh Scrint AFE 0| A|: (PI 2 E)

Xt A (pic)

pi = step*sum;

ElapsedTime=cpuTimer() - iStart;

printf("PI= %.15f (Error = %e)\n",pi, fabs(acos(-1)-pi));
printf("Elapsed Time = %f, [sec]\n", ElapsedTime);
printf("--------m - \n");
return 0;

—

ALt

$ module purge
$ module load intel
$ icc pi.c -0 pi_serial.x -xICELAKE-SERVER



Compile & Joh Script AFE 0| A|: (P1 2 E)

> PiSrial.sh

#!/bin/bash

#SBATCH -j Serial job
#SBATCH -p normal cpu
#SBATCH -N 1

#SBATCH -n 1

#SBATCH -C 1

#SBATCH -0 %x.0%]
#SBATCH -e %x.e%]
#SBATCH -t 00:10:00

Export OMP_NUM_THREADS=1

module purge
Module load intel

./pi_serial.x

$ sbatch PiSerial.sh



Compile & Joh Script AFE 0| A|: (P1 2 E)

» OpenMP(piOpenMP.c)

#include <stdio.h>
#include <math.h>
#include <sys/time.h>
#include <omp.h>
inline double cpuTimer() {
struct timeval tp;
gettimeofday(&tp,NULL);
return ((double)tp.tv_sec + (double)tp.tv_usec*1le-6);

int main() {
double iStart, ElapsedTime;
const long num_step = 5000000000;
long i;
double sum, step, pi, Xx;
int num_threads;
step = (1.0/(double)num_step);
sum = 0.0;
iStart=cpuTimer();
printf("---------"-"""“"“““m e - - \n");



Compile & Joh Scrint AFE 0| A|: (PI 2 E)

» OpenMP(piOpenMP.c)

#pragma omp parallel

{
#pragma omp master
{
num_threads=omp_get num_threads();
printf("# of threads : %d\n",num_threads);
}

#pragma omp for reduction(+:sum), private(x)
for(i=1;i<=num_step;i++){
x = ((double)i-0.5)*step;
sum += 4.0/(1.0+x*x);
}

pi = step*sum;

ElapsedTime= cpuTimer() - iStart;

printf("PI= %.15f (Error = %e)\n",pi, fabs(acos(-1)-pi));
printf("Elapsed Time = %f, [sec]\n", ElapsedTime);
printf("---------"""““ - \n");
return O;



Compile & Joh Scrint AFE 0| A|: (PI 2 E)

> AL
$ module purge

$ module load intel
$ icc -qopenmp piOpenMP.c -o piOpenMP.x -xICELAKE-SERVER

» PIOMP.sh

#!/bin/bash

#SBATCH -j OMP_3job

#SBATCH -p normal_cpu
#SBATCH --nodes=1

#SBATCH --ntask-per-node=10
#SBATCH -0 %X.0%]

#SBATCH -e %Xx.e%j

#SBATCH -t 00:10:00

Export OMP_NUM_THREADS=10

module purge
Module load intel

./piOpenMP. x

$ sbatch PiOMP. sh



Compile & Joh Script AFE 0| A|: (P1 2 E)

> MPI(piMPI.c)

#include <stdio.h>
#include <math.h>
#include "mpi.h"
int main(int argc, char *argv[]){
long i;
int myrank, nprocs;
const long num_step = 5000000000;
double mypi, x, pi, h, sum;
double st, et;
MPI_Init(&argc, &argv);
MPI_Comm_rank (MPI_COMM_WORLD, &myrank);
MPI_Comm_size(MPI_COMM_WORLD, &nprocs);
if(myrank==0) {
printf("# of processes : %d\n",nprocs);
st = MPI_Wtime();
}
h=1.0/(double)num_step;
sum = 0.0;
for(i=myrank;i<num_step;i+=nprocs){
x = h*((double)i-0.5);
sum += 4.0/(1.0+x*x);



Compile & Joh Scrint AFE 0| A|: (PI 2 E)

> MPI(piMPI.c)

mypi= h*sum;

MPI_Reduce(&mypi, &pi, 1, MPI_DOUBLE, MPI_SUM, ©, MPI_COMM_WORLD);

if(myrank==0){
et=MPI_Wtime();

printf("PI= %.15f (Error = %e)\n",pi, fabs(acos(-1)-pi));

printf("Elapsed Time = %f, [sec]\n", et-st);

printf("---------- - \n");
}
MPI_Finalize();
return O;
}
> Ao

$ module pure
$ module add intel impi
$ mpiicc piMPI.c -o piMPI.x -xICELAKE-SERVER



Compile & Joh Scrint AFE 0| A|: (PI 2 E)

» PIMPI.sh

#!/bin/bash

#SBATCH -j MPI_jop

#SBATCH -p normal cpu
#SBATCH --nodes=2

#SBATCH --ntasks-per-node=5
#SBATCH -0 %x.0%]J

#SBATCH -e %x.e%]

#SBATCH -t 00:10:00

Export OMP_NUM_THREADS=1

mpirun ./piMPI.x

$ sbatch PiMPI.sh



Compile & Joh Script AFE 0| A|: (P1 2 E)

» Cuda(piCuda.cu)

#tinclude <stdio.h>
#tinclude <cuda.h>

#define TRIALS_PER_THREAD 4096

#define NUM_BLOCK 256 // Number of thread blocks
#define NUM_THREAD 256 // Number of threads per block
#define NBIN 268435456 // Number of bins 4096*256*256
#ifdef DP

typedef double Real;

#define PI 3.14159265358979323846 // known value of pi
#else

typedef float Real;

#define PI 3.1415926535 // known value of pi

#endif

int tid;

Real pi = 0;

__global__ void cal_pi(Real *sum, int nbin, Real step, int nthreads, int nblocks) {
int i;
Real x;

int idx = blockIdx.x*blockDim.x+threadIdx.x;
for (i=idx; i< nbin; i+=nthreads*nblocks) {
x = (i+0.5)*step;
sum[idx] += 4.0/(1.0+x*Xx);



Compile & Joh Script AFE 0| A|: (P1 2 E)

» Cuda(piCuda.cu)

int main(void) {

clock_t start,end;

dim3 dimGrid (NUM_BLOCK,1,1); // Grid dimensions

dim3 dimBlock(NUM_THREAD,1,1); // Block dimensions

Real *sumHost, *sumDev; // Pointer to host & device arrays

printf("# of trials per thread = %d, # of blocks = %d, # of threads/block
= %d\n", TRIALS_PER_THREAD,NUM_BLOCK,NUM_THREAD) ;

Real step = 1.0/NBIN; // Step size

size_t size = NUM_BLOCK*NUM_THREAD*sizeof(Real); //Array memory size

sumHost = (Real *)malloc(size); // Allocate array on host

start=clock();

cudaMalloc((void **) &sumDev, size); // Allocate array on device

cudaMemset(sumDev, @, size);

cal_pi <<<dimGrid, dimBlock>>> (sumDev, NBIN, step, NUM_THREAD, NUM_BLOCK);

cudaMemcpy(sumHost, sumDev, size, cudaMemcpyDeviceToHost);

for(tid=0; tid<NUM_THREAD*NUM_BLOCK; tid++) pi += sumHost[tid];

pi *= step;

end=clock();

printf("GPU PI calculated in : %f s.\n",(end-start)/(float)CLOCKS_PER_SEC);

#ifdef DP

printf("GPU estimated PI = %20.18f [error of %20.18f]\n",pi,pi-PI);
#else

printf("GPU estimated PI = %f [error of %f]\n",pi,pi-PI);

#endif

free(sumHost);

cudaFree(sumDev);

return 9;



Compile & Joh Script AFE 0| A|: (P1 2 E)

> AL
$ module purge

$ module load pgi/23.5
$ nvcc piCuda.c -o piCuda.x -fast

» PiCuda.sh

#!/bin/bash

#SBATCH -j Cuda_job
#SBATCH -p normal
#SBATCH --nodes=1
#SBATCH -0 %X.0%]
#SBATCH -e %Xx.e%]
#SBATCH -t 00:10:00
#SBATCH --gres=gpu:1l
export OMP_NUM_THREADS=1
./piCuda.x

$ sbatch PiCuda.sh



Compile & Joh Script AFE 0| A|: (P1 2 E)

» OpenACC(pIACC.c)

#include <stdio.h>
#include <math.h>
#include <sys/time.h>
#include <omp.h>
inline double cpuTimer() {
struct timeval tp;
gettimeofday(&tp,NULL);
return ((double)tp.tv_sec + (double)tp.tv_usec*1le-6);

int main() {
double iStart, ElapsedTime;
const long num_step = 5000000000 ;
long i;
double sum, step, pi, Xx;
int num_threads;
step = (1.9/(double)num_step);
sum = 0.0;
iStart=cpuTimer();
printf("---------"""““ e - \n");



Compile & Joh Scrint AFE 0| A|: (PI 2 E)

» OpenACC(pIACC.c)

num_threads=omp_get num_threads();
printf("# of threads : %d\n",num_threads);
#pragma acc parallel loop reduction(+:sum), private(x)
for(i=1;i<=num_step;i++){
x = ((double)i-0.5)*step;
sum += 4.0/(1.0+x*x);
}
pi = step*sum;
ElapsedTime= cpuTimer() - iStart;
printf("PI= %.15f (Error = %e)\n",pi, fabs(acos(-1)-pi));
printf("Elapsed Time = %f, [sec]\n", ElapsedTime);
printf("---------m e \n");
return O;



Compile & Joh Scrint AFE 0| A|: (PI 2 E)

> AL
$ module purge

$ module load pgi/23.5
$ pgcc -acc piACC.c -o piACC.x -fast -Minfo

» PIACC.sh

#!/bin/bash

#SBATCH -J ACC_Jop
#SBATCH -p normal

#SBATCH --nodes=1

#SBATCH -0 %X.0%]

#SBATCH -e %Xx.e%]

#SBATCH --gres=gpu:1l
#SBATCH --time=00:10:00
Export OMP_NUM_THREADS=10
./piACC.x

$ gsub PiACC.sh
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